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The question paper comprises of two Sections, A and B. You are to attempt both the sections.

T vy erfard ¥

All questions are compulsory.

ST HIT-3 SN G- F Tl Wl & I 9o - ye forad )
All questions of Section-A and all questions of Section-B are to be attempted separately.

IT-31 % U e 18 3 % v u-uE o F T T Uoh-Te I5g, 31909 U&-Ua a1 ¥
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence,

I3 % W TN 4 H 7 F U Al o simt 5 5 T IUY TN 30-30 Tt A

Cuestion numbers 4 to 7 in Sections-A are two marks questions. These are to be answered in
about 30 words each.

HITT-31 & WY HEAl 8 H 19 % W - d ot & ¥ T IR T 50-50 IER F ¥

Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

-3 % T HEdl 20 W 24 F U Oig- Ui oiEt S T T 3T T 70-70 VI H ¥

Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

T~ & W9 9E 25 9 42 % WY VAN w9 W snie anEmed v T U UE-Ue 3
a4 ﬁqﬁwﬁmﬁﬁmmwmmﬁmm%;
Question numbers 25 to 42 in Section-B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to select one most appropriate response
out of the four provided to you.
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A bulb can not be used in place of a resister to verify ohms law. Justify this statement with
reason.

39 IEd TEE %1 A fafEd S ey % 9w w 9eee S B

Name the plant hormone that inhibits the growth of plants. abtiii acuoh -
=

Tt g8 g H e S 2 §7 3 we ffed femen s Ay s 8

Blowing wind carries kinetic energy. Mention the two factors that causes winds to blow ?

=g AfufEa & war w1 AW fofed 58 fraften @9 % fom o= F AErmFa a9 81 TSR =1
qaratE sfufEa &1t SR Sifay faad o9l v o1 & ©9 0 7EV & Wl 6 | UF SeR
Zifere el 20 AfufFEm =1 39 e €

Name the type of reaction that requires energy for its occurrence. Write chemical equation of
this kind of reaction where energy is taken in the form of light. Give one example where this
reaction is used.

f=fafEa & s s

(@)  HifeE wig w1 FUEHA F el T @ o g

(b) R Hethe Toerae = el 10 315 8 =i 2, 59 S5H 49re1 Uiy uest =TT
gl

Give reason for the following :
(m)} 7 Sodium metal is kept inmersed in kerosene
b Blue colour of copper sulphate solution disappear when some aluminum powder

15 added in it.
Cei oy + AL, = Aalal

o femgEt %1 foe fagm arEE 7R & e wn ) Fefafes & fag Fro afed F9 e
EESACaE L]

() @R ¥ faega uwr = g ag wm )

(b) Teog=s oR @ | ke & I T

A compass needle is placed near a current-carrying wire. State your observationfor the
following cases, and give reason for the same in each case-

+a)  Magnitude of electric current in the wire is increased.

{BY  The compass needle is displaced away from the wire.

2o0flb "}
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b)dj/c:’}rs are used in electrical heating device rather than pure metal. Give two reasons to

support the statement.
| 8 AT <1 e gt afufraed F oy gafaa tamt g fafag 3
| (a)  UMEE g F 9 TR ova ¥ sifufEm
| (b)  Hifea FElve F T TEEEiiE o & sifufEa

(€ I % U ¥ e ssleEEe At $0 W A e Atufe

Write balanced chemical equations for the following reactions :

(a)  dilute sulphuric acid reacts with aluminium powder

() dilute hydrochloric acid reacts with sodium carbonate
(c) Carbon-di-oxide is passed through lime water.

9 (@) A use F e fatad 3
() ST TS TeR | W Al 9T B w6 S ¥ 7 vRmaties S e |
(i) T e Y a6 e S R
| )~ Give the constituents of baking p.::-ngr.

\@/ Why cake or bread swells on adding baking powder ? Write chemical equation.

-@, Why edible acids are added to baking soda ?

o 10 T vEEte sl % 3R W R S aen fadw dew fafe 3
(@)  SRIRTET vz & faea # e w5 @ fem

(b)  HHERT § T S

(¢ o = = 1 IR | SUER W

State one characterstic observation in each of the following chemical reactions that occur when

Page 3 of 16




g’*”x
Yo

G
3,
o

11 i
-

12

‘_(93/ lemon juice is added gradually to potassium permagnate solution
S It becorues Colpuidina

(b) " wax is burned in a ndle

y’ quicklimne is treated with water

urged! 1 wheaa Jvit & 7o F e ag 8 9 ¥ v § 98w wEie s@@R ZnCo; & &Y

3 H O 9 §1 39 9m A 2 st w03 % o fafaw wemaths et =51 of et

Zinc is a metal found in the middle of the activity series of metals. In nature, it is found as a

carbonate ore, ZnCO;. Mention the steps carried out for its extraction from the ore. Support
with equations,

(@) Tl ofive smte =t geEa & wHEEd T fam g @ fmio feg wer fea = 9=
&2 '
(b) T % wE € SwEm fafEw )

J;a{ With the help of a circuit diagram show how can an electromagnet be made ?
i(b) Mention any two uses of magnets.

ﬁfﬁﬁsﬂ,uﬂwmg%uﬁﬁﬂﬁﬁaﬁmﬁmﬁﬁmﬁmm:

14

15

(a) S=OHER
by e A am R
Find ;

the highest

by~ the lowest value of resistance that can be obtained by the combination of four resistors
of40,8€,12(and 24 O.

Freferfiaa % 4 v % o w s fafe
(@) o s s Frem

(b)  wIfHT = A g Fram

()  wifem = 2w g fram

Write one application of each of the following :-
"(a/ Right hand thumb rule
Fleming's left hand rule

D)
ey Fleming’s right hand rule

T A o # Frefatas st aar fte §2
(a) e =t faf il
(b)  EESEINS 3T
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(c) b o
List the role of each of the following in our digestive system.

Muscles of stomach wall
Hydrochloric acid
g Mucus
16 (a) HFA 9fEsh & a2 90 @ Tm fefan) 3

(b) 9 af=mm o § gratun ofae F ven ¥ T fafa
(€ T 90 F gy % i w=n awon 32

(d)  FEa SEN ) e €2
; “@ Name the largest part of the human brain 4 ¢
M ' Name the types of nerves associated with peripheral nervous system.
‘i@ What is the concept behind sensation of feeling full ?

Wy~ What are the limitations of the electrical impulses ?
i

17 (@) T+ wF wmn = 9w fafed et 9w fafy - s an 3
(b) TS FI SRR Tl H St uferat wel srafen 2 32
() =% &1 == & 7 fafed o wesiet g suftem @ 21

(a) ~ Name any plant which has parasitic mode of nutrition,

e

b}~ Where are gasiric glands located in alimentary canal of human ?

RI; Name any two animals in which parasitic nutrition is present.
18 (a) T F= T afam fafae) 3
(b) W@ﬁﬁnﬁwéﬁw%mﬁm%?ﬂhaﬁaﬂmwaﬂ@
Hiega fafa

Define tidal energy ?

: &Y ¢

2 ]L,}«"’X Explain how is tidal energy harnessed and write one limitation of the use of tidal
energy.
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(a)  wErE wl g weRi e fafe )
(b)  TriE Sl i e % 4 ) fag fafe fe o 3 e a5 T @ |

Recently when Government decided to set up a nuclear power plant in an area, MNGOs and
local people raised their voice against it. They demanded that the Government should assure
safety measures before setting up such a plant arid Government assured them of it

(@ Explain the value exhibited by people of the area.

,lb/}/ List any two concerns of the people for which they were demanding safety measures.

20 (i) HEOT H 9 e €2 2
(i) & TS T T S sawrs it = E 2
(i) o F gEF aig F o e Heh 38 S o ¥ 0 e €2
(iv) UEMFEW O O G99 AR AWER = w S T2

(i~ What do you understand by corrosion?
ﬁﬂ///Giw: two conditions necessary for rusting of iron.
{ity ™ How the rusting can be prevented by alloying iron with othr metal.

fivy— Why the aluminium becomes dull after sometime.

21 (1) 9 @ W pH AF 5.5 Y %H & W &, 79 <l & Y7 @ o &) swen St fF 9w 5
T ardl & & = fFa TR IF ¥
(b) Ui sl = A fafay -
@  EEEmd
G sH
(c) T 1 39 feufe w1 o i fred o o 1o @ 1 e J o 0 A 6 I
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{a)  Tooth decay starts when the pH of the mouth is lower than 5.5. Explain how does the

tooth paste prevent tooth decay.
(b) ~ Name the acids present in :
Ly~  Nettle sting
Y1) Curd

{c) State the soil conditions under which a farmer treats the soil of his field with quick
lime or slaked lime

() e forgm oftwe F e & F @ s i | e wgE aifeam fafe ) s wE
Al =F H W 39 fEn i ae verd e fefe

(b)  5A H{Hdi & TRl Hie] 9Ty (220V) ¥ 2kwW ARG i =1 Hid Taem v waifa =
EiCik A : -

(i) w22l gra & = o fage um ufistea Sifs )

(ii) IS AW 1AM ? A9 I E g wife)

State the function of fuse in the domestic electric circuit. Write its most important
characteristic. Name the material generally used to prepare a good fuse wire?

An electric oven of 2kW power rating is operated in a domestic electric circuit (220 V)
that has a current rating of 5A.
v What is the current drawn?

! What will happen to the fuse wire? Justify your answer.

et

(@  FEE um @R e am wt uftamw fafen) fowe um &7 e s 9w w5 uE ey
ferfm |

(b) TH ATH FO (GFEEE F0) TH TEEE GF B S0h oReE Y9 S ¥ S faw A
femmen mn 1 weafam g F g svew 01 W o 9 w9 5 e gumne |

magnetic held

4H7+—.- alpha

(a) Define ACand D-C. Mention one advantage of AC and DC.

‘@‘ An alpha particle (+ ve charged particle ) enters a magnetic field at right angle to it as
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shown in figure . Explain with the help of a relevant rule the direction of force acting
on the alpha particle .
magnetic held
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(a)

wwﬁﬁmmﬁmﬁmﬁﬁaﬂmmm;

(i) TR

) A

(i) HAE

(iv)  HelvE

T = W e W Seerd S|

__@Hﬁmeﬁmmf&rﬁaqﬁwmﬁﬁmwﬁ%w 9T & B €

Draw human excretory system and label the following parts: -

(i) left kidney

(ii) Urethra

(iii) ~ Urinary Bladder

(iv) Venacava

State the purpose of making urine.

Name any two substances which are selectively reabsorbed from the tubules of 2
nephron.

W/ SECTION - B

v B 3 T s & e et 1 pH am 9w

(i) @3 HCL (i) AGHE

(iii) (v) - SfEqH EEEEES

3 Foremr Foreen pH T A9 T % 9 WAl S A A € -

& @) ®) (), ()

() (i), (i) (d) (@) G

A student test the following solutions of same concentration for pH value
(i)  dil HCI )  lemon juice

(i) water (iv) dil sodium hydroxide

The solutions which respectively have the lowest and highest pHare:
@) (@) (b) (i), (v)

(¢ (i), (iii) (d) (D) @)

eyrr faee H pHAA R P A A A sl 1 WA T4 B € 7

(@) OH" () OHY

@ H” (d H”

Which of the following ions concentration is shown by pH in basic

solutions 7

(©)
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27 T 3 1 W Siwt 1 AR € 999 9 SeqieH =i Wi g 1

(@) =R (b) s

( S @ i

The nature of the product formed by the action of water on quick lime is : i

(@)  Neutral (b)  Acidic O% g

(c) Amphoteric pid  Basic 1 Q

(a3,

28 O T ¥ o F a9 g A e e St 2 A U vie e e d s v w1

[EEREETInIE R

(a) THE A

(b)  FEEEES A=

(€  Hfcemm wwEe .

(d)  HiewEm RgeEe
When water is added to a test tube containing some quick lime, a white substance is formed.
The aqueous solution of this substance is chemically :
(&) lime water
(b}  carboxylic acid
*{c)  calcium carbonate
calcium hydroxide

23 & e o 99 o[ A st e € 9 e g aitedd o dam e i s wRad R m e 1
a5 e fremre o & for o a3t o1 =1 o @ arfrfiean -
(@)  wAEH AR % Y-y S st sfafee ot £
(b) WA Afufea % Srg-my S sl o 3
(c)  fovemas srfuferar &
(d)y fafaramm sifufea &

When we add water to quick lime we observe some changes. On the basis of those changes we
may conclude that the reaction between quick lime and water isa -

(a) combination reaction as well as endothermic reaction

(b}  combination reaction as well as exothersmic reaction

(c) displacement reaction

(d) double displacement reaction
| 3 1 1 § TN faee w g 1

=
' (@)  ZnSOufaq), FeSOs(aq)  \4BF" AL{SOu)s (aq), CuSOs (aq)
A48 AL(SOi)(aq), FeSOs(aq)  (d)  ZnSO: (aq), Al (SOu)s (aq)
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The set of colourless solutions is :
(a) ZnS0O; (aq), FeSQs (aq) (b) AL(SO4)s (ag), CubOs (aq)
unb} AL(S0s)s (ag), FeSOs (aq) (d) ZnSQOy (aq), Alz (SOs)s (aqg)

31 ﬁmﬁaﬁsﬁﬁﬁ%ﬁamaﬁhéﬁmﬁ#muﬁm%mﬁ@ﬁﬁaﬁmﬁm@m: 1

g ST €
(@) Tordism sfufwan &1 (b)  EEEE R
(¢ Toenw afafsa (@ fofasums sifufsman =

To turn a pale green solution of ferrous sulphate to colourless, Radhika put a few zinc
granules in it. This is an example of :

(a) Decomposition reaction (b) Combination reaction
ey~ Displacement reaction (d)  Double displacement reaction
/@i&ﬂq t 'Zu.}—‘h _E-PL{::-D\., S
32 afe e favara % witad & wfely =1 g1 fagr g & 9w — 1
(a) = €1 (b) = €
(¢ sfafda T & (@ W H D wE g v e

If the resistance in a circuit with constant voltage increases, the current will :

(a) increase (b) decrease
fcy” stay the same (d)  notenough information
33 20 () WM ¥ TR H 0.2A 4N Yaled Fe % fa e EyEi 8- 1
(a) 100V
(b) 4V
() .01V
(d) 40V
The potential difference required to pass a current 0.2A in a wire of resistance 2042 will be:-
(a) 100V
W) &N
() .01V
(d) 40V
V=7
Page 10 of 16 I=0-4
R= 2o
V= LyR
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Eﬁﬁw%ﬁﬂﬁﬂuﬁuﬂ%ﬁﬁgﬁmﬂammmﬁ%mmﬁmﬁ%ﬁmw% 1

AR . <20p % 2
| .E.EM:j | @3

SfY i afeiea 51 W o9 S o

(@ 100 (b) 10 © 1 @ o1
The current flowing through a resistor connected in an electric circuit and the potential
difference developed across its ends are shown below:.

400 200 A 2
0 f 300 0 3 [ ¢
mA |
10 - .1 t

e kg
% i
R= V=L WR g
The valug{] of resistance of the resistor in ohm's is - ; __-LE T S <& wof OE:SL
(a) 1 d) b (& 019 -2

2 K, Rs
i
£

——{HH ()

(a) ﬁwﬁﬁwﬁmﬁaaﬁmwﬁa%ﬂﬁm?ﬁl

(b) = SR, et qun sieerier wa S s £

() S i, Wt Wi § v e g s T |

(d) ﬁwﬁﬁwamﬁfﬁnﬁaaﬁﬁﬁaﬁmﬁmﬂﬁ:

To find the equivalent resistance of two resistors Ryand R connected in series, Rahul prepared
a circuit as shown below. Another student Mohit observed the circuit and said that the dircuit
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is not correct, The mistake in the circuit is :
+:—
I 1{1 Rl |

i

(a) The two resistors and the ammeter have been connected correctly but not the
voltmeter

(b)  The two resistors, the voltmeter and the ammeter all have been connected correctly

(&}~ The two resistors have been connected correctly but not the voltmeter and the
Ammeter

(d) The two resistors and the voltmeter have been connected correctly but not the
ammeter

5 in Ll

36 TR T § S T v 1 ger R W w6 % v § o 3 1 St S e 1
F) WA F Ty S =R |

(@) <l gEEs Ty Aol | : :
(b) S I TS WY FARH H |

(@ o wE ¥ iR Azt & wwE Ty AT H

(d) R vEE wy I F o deediet S e 1

To perform the experiment of finding equivalent resistance of a parallel combination of
resistance, a student should join volvemeter and ammeter with the combination as :

(a) both in series with it
by~ both in parallel with it
() ammeter in parallel and voltmeter in series with it

égj ammeter in series and voltmeter in parallel with it.
':.l

37 AR B Y T o ufreee faeet = 9wl ¥ gauewl ¥ A wiHa fHe AR e a1
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Four students focused an epidermal peel of leaf under high power of microscope and made
the following sketches. Which one out of the following is a correct sketch?

38 wﬁaﬁaﬁamﬁﬁaﬂimaﬁﬁmmﬁwm#mﬁaﬁmaﬂmﬁawm 1

@) SEEEEd (b) T foRT W R gaw #

(€ R (d) o T W FE o 9 5 B o T
The most appropriate part of leaf epidermis in a dicot plant to observe stomata and guard

cells would be on;
T

M)  Dorsal side (b)  Ventral side on midrib

(c) Veins (d)  Any part on the ventral side but not on midrib

39 feel Aereiien fod, Ariem wF 99 4 W B 9 Foew W wd W e fea T e 1
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(@) TAEI ) v = R

(©) IO & Hger e die )R (d) WeRTST T R @1 8

On a cloudy day, a plant leaf was plucked in the evening and tested for starch. It gave a
negative iodine test. The reason is that the plant is

(a) dead
(b) notrespiring
ey~ atcompensation point throughout the day

(d) photosynthesizing

40 ‘wwmﬁmwﬁ,*mﬁﬂﬁmﬁmﬁmm%~ 1
(@) Tt § wiElE e
(b) ISR I AT I AT B |
(© T % el i T H
(d) TEE R  gftafid
While performing experiment to prove “light is essential for photosynthesis”, the purpose of
boiling leaf in ethanol is to -
remove chiorophyll from leaf.
(b)  make starch soluble in cells.

(c)  make tissues of leaf soft.
(d)  convert glucose to starch.

1 e SRR CO, st o & Twi 3 v ¥, o9 H1 wE 9N € 1
() Vi o, | U-3T%R 1 == %1 e e, B9
®) E@ U- TR it Si= 1 Fem T, i o e
(©) vis e, S, U-STER 1 Hie w5 Fre e, B e

(d) BT T, Y TR, S, HiY

To show experimentally that COz is given out during respiration, the correct combination for
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theset-upis:

(2)
(b)

s

conical flask, beaker, U-shaped glass delivery tube, funnel.

beaker, U-shaped glass delivery tube, funnel, small test tube

w conical flask, beaker, U-shaped glass delivery tube, small test tube

(d)

small test tube, conical flask, beaker, funnel

42 vAET % SNH CO, Iefsia anit & wuil 3 e ©, g8 vt § we i e 9 o il

(@)
(b)
(©

(d)

S HPRT T A9 W@ F@ ¥, KOH faead CO, i smiw &= &, g wores §
AitF Frafa so= 2 &

ST AHRA 8 i e w8, KOH faera O, 1 semiw w31 &, %% % § s
frata 3w g €1

w4 Faet A9 v wi NaOH faer57 CO, #1 s Fx &, sig vares ¥ o frafa
o9 BT |

S HGRT B <l wehre Hyerww = ¥, KOH femm O, %1 swasie 7w &, v v
# ot Frafa sem dR )

In the experiment to show that CO, is released during respiration, the water level in bent tube

rises because :

(@)
(b)

(©)

A

when germinating seeds respire, KOH solution absorbs CO,, partial vacuum is created
in conical flask

when germinating seeds respire, KOH solution absorbs Oy, partial vacuum is created
in conical flask

when boiled seeds are respire, NaOH solution absorbs CO,, total vacuum is created in
conical flask

when germinating seeds are photosynthesis, KOH solution absorbs CO,, total vacuum

is created in conical flask.
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